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scala 1:25

3.26

Cls. C28/35 - Acciaio B450C

TABELLA PILASTRI  QUOTA m: 3.66
PIL. PIL.
13

 30

 7
0

2ø18

3ø18

A

B

SPIGOLI 4ø18

STAFFE: 25*50 LTOT=162*2
*:SPILLI EXTRA 3A

ø8/14 L= 70
ø8/7 L= 50 *

ø8/21 L= 168
ø8/14 L= 70

L=358 L.FER=392

15

 60

 3
0

2ø18

1ø18

A

B

SPIGOLI 4ø18

STAFFE: 38*25 LTOT=137*2
ø8/14 L= 78
ø8/8 L= 50

ø8/21 L= 170
ø8/14 L= 60

L=358 L.FER=392

17

 30

 4
0

1ø18

1ø18

A

B

SPIGOLI 4ø18

STAFFE: 25*35 LTOT=132
ø8/14 L= 114
ø8/21 L= 176
ø8/14 L= 68

L=358 L.FER=392

20

 30

 6
0

1ø18

2ø18

A

B

SPIGOLI 4ø18

STAFFE: 25*38 LTOT=137*2
*:SPILLI EXTRA 3A

ø8/14 L= 71
ø8/7 L= 50 *

ø8/21 L= 177
ø8/14 L= 60

L=358 L.FER=392

24

 70

 3
0

4ø18

3ø18

A

B

SPIGOLI 4ø18

STAFFE: 40*25 LTOT=142*2
*:SPILLI EXTRA 2B

ø8/14 L= 70
ø8/7 L= 50 *

ø8/21 L= 168
ø8/14 L= 70

L=358 L.FER=392

25

 70

 3
0

3ø18

3ø18

A

B

SPIGOLI 4ø18

STAFFE: 50*25 LTOT=162*2
*:SPILLI EXTRA 2B

ø8/14 L= 70
ø8/7 L= 50 *

ø8/21 L= 168
ø8/14 L= 70

L=358 L.FER=392

TABELLA PILASTRI  QUOTA m: 3.66
PIL. PIL.
26
33

 30

 7
0

2ø18

3ø18

A

B

SPIGOLI 4ø18

STAFFE: 25*50 LTOT=162*2
ø8/14 L= 120
ø8/21 L= 168
ø8/14 L= 70

L=358 L.FER=392

29

 30

 4
0

1ø18

1ø18

A

B

SPIGOLI 4ø18

STAFFE: 25*35 LTOT=132
ø8/14 L= 113
ø8/21 L= 179
ø8/14 L= 66

L=358 L.FER=392

34

 60

 3
0

4ø18

2ø18

A

B

SPIGOLI 4ø18

STAFFE: 34*25 LTOT=130*2
*:SPILLI EXTRA 2B

ø8/14 L= 61
ø8/7 L= 50 *

ø8/21 L= 186
ø8/14 L= 61

L=358 L.FER=392

35

 60

 3
0

4ø18

3ø18

A

B

SPIGOLI 4ø18

STAFFE: 34*25 LTOT=130*2
*:SPILLI EXTRA 2B

ø8/14 L= 60
ø8/7 L= 50 *

ø8/21 L= 186
ø8/14 L= 62

L=358 L.FER=392

37

 30

 7
0

2ø18

6ø18

A

B

SPIGOLI 4ø18

STAFFE: 25*47 LTOT=156*2
*:SPILLI EXTRA 2A

ø8/14 L= 70
ø8/7 L= 50 *

ø8/21 L= 168
ø8/14 L= 70

L=358 L.FER=392

38

 30

 7
0

2ø18

5ø18

A

B

SPIGOLI 4ø18

STAFFE: 25*44 LTOT=151*2
*:SPILLI EXTRA 2A

ø8/14 L= 70
ø8/7 L= 50 *

ø8/21 L= 168
ø8/14 L= 70

L=358 L.FER=392

TABELLA PILASTRI  QUOTA m: 3.66
PIL. PIL.
38

 30

 7
0

2ø18

5ø18

A

B

SPIGOLI 4ø18

STAFFE: 25*44 LTOT=151*2
*:SPILLI EXTRA 3A

ø8/14 L= 70
ø8/7 L= 50 *

ø8/21 L= 156
ø8/14 L= 70

L=346 L.FER=380

TABELLA PILASTRI  QUOTA m: 0.00
PIL. PIL.
1

 30

 4
0

1Ă18

1Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*35 LTOT=132
Ă8/14 L= 45
Ă8/8 L= 40

Ă8/21 L= 57
Ă8/14 L= 45

L=187 L.FER=231

2

 30

 7
0

2Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*50 LTOT=162*2
Ă8/14 L= 114

Ă8/13 L= 74

L=187 L.FER=278

3

 35

 8
0

4Ă18

6Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 30*55 LTOT=181*2
*:SPILLI EXTRA 4A

Ă8/14 L= 80
Ă8/7 L= 55 *

Ă8/21 L= 141
Ă8/14 L= 90

L=366 L.FER=457

4

 30

 7
0

2Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*50 LTOT=162*2
Ă8/14 L= 114

Ă8/14 L= 74

L=187 L.FER=278

6

 30

 7
0

2Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*50 LTOT=162*2
Ă8/14 L= 114

Ă8/14 L= 74

L=187 L.FER=278

7

 40

 3
0

1Ă18

1Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 35*25 LTOT=132
Ă8/14 L= 45
Ă8/13 L= 40

Ă8/21 L= 47
Ă8/14 L= 55

L=187 L.FER=231

TABELLA PILASTRI  QUOTA m: 0.00
PIL. PIL.
9

 35

 8
0

3Ă18

6Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 30*55 LTOT=181*2
*:SPILLI EXTRA 3A

Ă8/14 L= 80
Ă8/7 L= 60 *

Ă8/21 L= 136
Ă8/14 L= 90

L=366 L.FER=457

10

 40

 8
0

3Ă18

4Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 35*46 LTOT=175*2
*:SPILLI EXTRA 3A

Ă8/14 L= 80
Ă8/7 L= 60 *

Ă8/21 L= 136
Ă8/14 L= 90

L=366 L.FER=457
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 35

 8
0

3Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 30*57 LTOT=187*2
*:SPILLI EXTRA 5A

Ă8/14 L= 80
Ă8/7 L= 55 *

Ă8/21 L= 148
Ă8/14 L= 83

L=366 L.FER=457

12

 30

 4
0

2Ă18

1Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*35 LTOT=132
Ă8/14 L= 45
Ă8/13 L= 40

Ă8/21 L= 28
Ă8/11 L= 74

L=187 L.FER=278

13

 35

 8
0

2Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 30*57 LTOT=187*2
*:SPILLI EXTRA 4A

Ă8/14 L= 80
Ă8/7 L= 55 *

Ă8/21 L= 147
Ă8/14 L= 84

L=366 L.FER=457

14

 40

 3
0

1Ă18

1Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 35*25 LTOT=132
Ă8/14 L= 45
Ă8/8 L= 40

Ă8/21 L= 57
Ă8/14 L= 45

L=187 L.FER=231

TABELLA PILASTRI  QUOTA m: 0.00
PIL. PIL.
15

 70

 3
0

3Ă18

2Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 50*25 LTOT=162*2
Ă8/14 L= 114

Ă8/14 L= 74

L=187 L.FER=278

17

 30

 4
0

1Ă18

1Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*35 LTOT=132
Ă8/14 L= 100
Ă8/21 L= 182
Ă8/14 L= 84

L=366 L.FER=457
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 40

 3
0

1Ă18

1Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 35*25 LTOT=132
Ă8/14 L= 45
Ă8/13 L= 40

Ă8/21 L= 57
Ă8/14 L= 45

L=187 L.FER=231
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 35

 7
0

2Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 30*50 LTOT=171*2
Ă8/14 L= 114

Ă8/14 L= 74

L=187 L.FER=278

20

 35

 7
0

2Ă18

7Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 30*42 LTOT=155*2
Ă8/14 L= 74
Ă8/8 L= 40

Ă8/14 L= 74

L=187 L.FER=278

22

 35

 7
0

2Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 30*50 LTOT=171*2
Ă8/14 L= 114

Ă8/14 L= 74

L=187 L.FER=278

TABELLA PILASTRI  QUOTA m: 0.00
PIL. PIL.
23

 35

 7
0

2Ă18

4Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 30*40 LTOT=152*2
Ă8/14 L= 114

Ă8/14 L= 74

L=187 L.FER=278

24

 80

 3
0

4Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 46*25 LTOT=154*2
Ă8/14 L= 113
Ă8/18 L= 1
Ă8/14 L= 73

L=187 L.FER=278

25

 80

 3
0

3Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 57*25 LTOT=176*2
Ă8/14 L= 113
Ă8/18 L= 1
Ă8/13 L= 73

L=187 L.FER=278

26

 30

 8
0

2Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*57 LTOT=176*2
Ă8/14 L= 113
Ă8/21 L= 1
Ă8/14 L= 73

L=187 L.FER=278

29

 30

 4
0

1Ă18

1Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*35 LTOT=132
Ă8/14 L= 95
Ă8/21 L= 188
Ă8/14 L= 83

L=366 L.FER=457

33

 30

 8
0

2Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*57 LTOT=176*2
Ă8/14 L= 80
Ă8/9 L= 55

Ă8/21 L= 130
Ă8/14 L= 101

L=366 L.FER=457

TABELLA PILASTRI  QUOTA m: 0.00
PIL. PIL.
34

 70

 3
0

4Ă18

2Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 40*25 LTOT=142*2
*:SPILLI EXTRA 2B

Ă8/14 L= 70
Ă8/7 L= 60 *

Ă8/21 L= 149
Ă8/14 L= 87

L=366 L.FER=457

35

 70

 3
0

4Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 40*25 LTOT=142*2
*:SPILLI EXTRA 3B

Ă8/14 L= 70
Ă8/7 L= 60 *

Ă8/21 L= 151
Ă8/14 L= 85

L=366 L.FER=457

37

 35
 8

0

3Ă18

6Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 30*55 LTOT=181*2
*:SPILLI EXTRA 2A

Ă8/14 L= 80
Ă8/7 L= 60 *

Ă8/21 L= 135
Ă8/14 L= 91

L=366 L.FER=457

38

 40

 8
0

3Ă18

5Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 35*51 LTOT=184*2
*:SPILLI EXTRA 2A

Ă8/14 L= 80
Ă8/7 L= 60 *

Ă8/21 L= 135
Ă8/14 L= 91

L=366 L.FER=457

TABELLA PILASTRI  QUOTA m: 1.87
PIL. PIL.
2

 30

 7
0

2Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*50 LTOT=162*2
Ă8/14 L= 117

Ă8/14 L= 62

L=179 L.FER=270

4

 30

 6
0

1Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*42 LTOT=146*2
Ă8/14 L= 115

Ă8/14 L= 65

L=179 L.FER=270

6

 30

 6
0

1Ă18

2Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*38 LTOT=137*2
Ă8/14 L= 60
Ă8/11 L= 21

Ă8/21 L= 167
Ă8/14 L= 103

L=351 L.FER=442

12

 30

 4
0

2Ă18

1Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*35 LTOT=132
*:SPILLI EXTRA 1A

Ă8/14 L= 45
Ă8/7 L= 55 *

Ă8/21 L= 26
Ă8/14 L= 53

L=179 L.FER=208

15

 70

 3
0

3Ă18

2Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 50*25 LTOT=162*2
Ă8/14 L= 115

Ă8/14 L= 65

L=179 L.FER=270

19

 30

 6
0

1Ă18

2Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*38 LTOT=137*2
*:SPILLI EXTRA 3A

Ă8/14 L= 91
Ă8/7 L= 50 *

Ă8/21 L= 306
Ă8/14 L= 90

L=537 L.FER=571

TABELLA PILASTRI  QUOTA m: 1.87
PIL. PIL.
20

 30

 7
0

2Ă18

7Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*42 LTOT=145*2
Ă8/14 L= 117

Ă8/14 L= 62

L=179 L.FER=270

22

 30

 6
0

1Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*42 LTOT=146*2
Ă8/14 L= 60
Ă8/11 L= 21

Ă8/21 L= 169
Ă8/14 L= 101

L=351 L.FER=442

23

 30

 6
0

1Ă18

4Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*34 LTOT=130*2
Ă8/14 L= 81
Ă8/21 L= 180
Ă8/14 L= 90

L=351 L.FER=442

24

 80
 3

0

4Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 46*25 LTOT=154*2
*:SPILLI EXTRA 3B

Ă8/12 L= 60
Ă8/7 L= 60 *

Ă8/12 L= 60

L=179 L.FER=270

25

 80

 3
0

3Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 57*25 LTOT=176*2
*:SPILLI EXTRA 3B

Ă8/14 L= 60
Ă8/7 L= 60 *

Ă8/14 L= 60

L=179 L.FER=270

26

 30

 8
0

2Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*57 LTOT=176*2
Ă8/14 L= 62
Ă8/9 L= 55

Ă8/14 L= 62

L=179 L.FER=270

TABELLA PILASTRI  QUOTA m: 3.66
PIL. PIL.
2

 30

 6
0

2Ă18

2Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*38 LTOT=137*2
Ă8/14 L= 97

Ă8/14 L= 76

L=172 L.FER=263

3

 30

 7
0

4Ă18

6Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*47 LTOT=156*2
*:SPILLI EXTRA 3A

Ă8/14 L= 70
Ă8/7 L= 50 *

Ă8/21 L= 168
Ă8/14 L= 70

L=358 L.FER=392

4

 30

 6
0

1Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*42 LTOT=146*2
*:SPILLI EXTRA 3A

Ă8/14 L= 81
Ă8/7 L= 50 *

Ă8/21 L= 167
Ă8/14 L= 60

L=358 L.FER=392

9

 30

 7
0

3Ă18

6Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*47 LTOT=156*2
*:SPILLI EXTRA 3A

Ă8/14 L= 70
Ă8/7 L= 50 *

Ă8/21 L= 168
Ă8/14 L= 70

L=358 L.FER=392

10

 30

 7
0

3Ă18

4Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*40 LTOT=142*2
*:SPILLI EXTRA 3A

Ă8/14 L= 70
Ă8/7 L= 50 *

Ă8/21 L= 168
Ă8/14 L= 70

L=358 L.FER=392

11

 30

 7
0

3Ă18

3Ă18

A

B

SPIGOLI 4Ă18

STAFFE: 25*50 LTOT=162*2
*:SPILLI EXTRA 4A

Ă8/14 L= 70
Ă8/7 L= 50 *

Ă8/21 L= 168
Ă8/14 L= 70

L=358 L.FER=392

TABELLA PILASTRI  QUOTA m: 5.39
PIL. PIL.
2

 30

 6
0

1ø18

2ø18

A

B

SPIGOLI 4ø18

STAFFE: 25*38 LTOT=137*2
ø8/14 L= 65
ø8/8 L= 50

ø8/21 L= 10
ø8/14 L= 60

L=185 L.FER=219

6

 30

 6
0

1ø18

2ø18

A

B

SPIGOLI 4ø18

STAFFE: 25*38 LTOT=137*2
ø8/14 L= 73
ø8/10 L= 50

ø8/21 L= 2
ø8/14 L= 60

L=185 L.FER=219

22

 30

 6
0

1ø18

2ø18

A

B

SPIGOLI 4ø18

STAFFE: 25*38 LTOT=137*2
ø8/14 L= 75
ø8/10 L= 50

ø8/14 L= 60

L=185 L.FER=219

23

 30

 6
0

1ø18

2ø18

A

B

SPIGOLI 4ø18

STAFFE: 25*38 LTOT=137*2
ø8/14 L= 118

ø8/14 L= 68

L=185 L.FER=219
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140

spilli ogni 2 ferri verticali in zona confinata 
(anche su rete)

 Ltot =  145

25

44

 Ltot =  145

25

44

22  Ltot =  3122

Prescrizione: 9 Spilli/Mq

 Ltot =  31

Armatura setto   scala 1:50




